EARAROBREBRT —5 XN—ZXBISH—F

2023518308 (B) 23@&EE1H

IR NEERIES C32 USSR ‘(fﬁ} W ‘I%EH?’JFE‘?] - | 5 1m =
[AXE%€]) 1%&:350,00H ~ 2%&:116,000H  33#%:70,000M  43%&:46,000H  53&:32,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1171 8 | FFHYILN— it 4 gg%fé: 1:({)).3 5-5-4-3 | 40.9| - 7 | 4% %%ﬁ— (C=T=)
RVIN-RT— b BEIHYNLAY | imis
= s 4 | ETE 1:40.4 3-3-3-4 | 41.2] - 1 493 | HEEIE (BEE)
2189 ?\.muj{:?f . e O @/4) @p | W) IF-RbETIY
Ri7ROVIvI B:FZAT7AVNYR P
— Ho4 | DEREE— 1:40.4 6-6-7-2 [40.5| — | 4 | #6 |ROXX (BTE)
3(gjio -~~~ 5.0 \F) o |IEER
R:T—=JLRI—R B:9=Z/N=N5 BREMPEES
4 2 D NVATRD 4 4 ﬁﬁﬂﬂxﬂﬁ 1:?31)'0 1-1-1-1 (421 - 3 443 g%ﬁi (BEE)
QT RRAV L= BRAIA = O e
5|55 | SR ML 4 4 ﬁﬁgﬁf@ 1( 74::? 2-2-2-4 | 42.1| - 5 (4_124; ﬁ%i; (BEE)
RPRIAVL—Y BILFTATS FiEs
6l1l17z1r20> it 4 &569%@ 1( :41.; 7-7-5-6 | 41.7| — 2 427 %}ﬁ?& ;;(%EE)
. e 2
REVFOYY BRETASNERR BRI
7 6| TAILEOSY i gﬁ%ﬁ 1:612).2 4467 |42.6| — | 6 | 409 %rgg% (BEE)
. 5 = T
RVWN—RAF— b BTF—RIAF—R 3 | Ja—u—7r-n
<, e o 4 | BESCIE - - - - - 473 | BT IE—8 (ZaR)
eyl 3| 7YN\NTE— e 54.0 250 -3) HEEx
R:T—IVRYYF BAI=FT o F4FUARIST
~, 4 4 | FEEREE - - - - - - | HFLE— &ER)
Wl 4 | ATUVTL—3R 54.0 () _) |EB8F
R:EVFOVY BiR—bFv XL B =) DIRIVIT7—LA
= =] — s o4 | EEEEX - - - - - - |#\BREX (BB
7|7 :_{7?'7;37'J_ . 755.0 ) ) Tl
R:5TU—F4 S RULE BEARES
@ 11— —BERIEI
13—7F— 2,5,9,6,8,10,1
20— — 2,5,9,6,8,10,1
BEIES /S 2,5,9,8,1,6,10
4A0—F— 2,10,8,(5,9),1,6
o ILRE
BB 8 3,140 | [ 94 K 8-9 920/ & 7-8 1,870M 3ER 8-9-10 4,500
B B 8 760M3 8-10 1,340/ o 18 8-9 3,690 3Es 8-9-10 33,6804
9 140/ 9-10 3201 oS- 1 8-9 11,8304
10 190/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




